A B c | E F G H | J
(5) Mounting Holes
for M12 [1/2"] Screws. Note: Spreader bar ) .
= See Detail A for top required to avoid Cooling fan location
0 mounting hole damage during lifting
=2 dimensions.
s 225 8.80] | 225 [8.86] (4)-Lifting Holes E 4.5[0.18]
A MTG DIM ‘ MTG DIM @30 [@1 1 8] Alr ]
4 i 0 8 J 8
226.2(8.91] | | 65 [2.56] _ e ° e
| R
i N
Keypad i g Nameplate g @13 [30.51]
1 o - - % 8
8 ""_|> = F (o]
~ 3 ! ! <
I g 9 | 5
S ° ° 7
g i i o
o | =0 !
N, = | °
© — ' v b
S N | | N
R ha ! i - Center of Gravity ° 27[1.06]
p ! =L Note: Dimensions shown °o o
< ﬁ | 8 are measured from the ° Detail A
e e - bottom left mounting hole 2o 8 Detail A
m—ﬁq B = Top mounting hole dimensions
% Scale 1:2
= 172.3 Air
S [6.78] 4.5[0.18]
;. Max. 20 [0.79] Max. 20 [0.79]
& AN Bl 298.3 [11.74]
30[1.18] 450 [17.72] 30[1.18]
HORIZONTAL MTG DIM 25 [010] 480 [1890]
510 [20.08]
C/C:  |INPUT VOLTAGE | WEIGHT [COOLING
GA80n | 3-PHASE (VAC) | Kg (b FANS
_ T477000 167 (367) 2
© TS68000 | 4 10 e 167 (367) 2
g T605000 172 (378) 2
g T720000 173 (381) 3
ﬁ o denotes A-Z
@_ — DRWN. | J. MATTAS 12-9-19 |[TITLE SIZE A |PAGE 10F3 REV
YAS '(AWA —  [CHKD. |J. PIOTROWSKI _[1-17-20 | GA800 12 PULSE DIMENSION DRAWING [DWG.NO. 0
UNITS MM [IN]| TECH. |L. UDDIN 1-24-20 FRAME SIZE 11
IPO0 ENCLOSURE
SCALE 1:15 | APRV. |J. CAIRO 2-25-20 DD.GA80.FR11.1P00.12P




I— A B C D E F G H | J
1
384.6 [15.14] 40.5[1.59]
Base Point of 190.3 [7.49] ‘ 49 [1.93]
Terminal Board Refer to DD.GA80. TERMBOARD
) ) 167.6 [6.60] drawing for terminal board details
2 Main Terminals = =
with M12 Screws Main Terminals
with M12 Screws
o>
— — N~
3 :}L S
g oo o 2 S -
- S| = ol 3
3 = o, 5 -
@© N N
o N~ N~
< N~ N~
(a2}
I Grounding Terminals
- with M12 Screws
Slot(-)/Hex head
5 35.5[1.40] (WAF: 18mm) combo
4 2 it P R
=3 44 [1.73] 44 [1.73]
To]
o 205 [8.07] 40 [1.57]
202.6 [7.97] 40.5[1.59]
287.6 [11.32] 40.5[1.59]
5
372.6 [14.67] 40.5 [1.59]
6
DL S = C/C: TERMINAL WIRE RANGE TERMINAL | CLAMPING TORQUE
R GA80O SYMBOL AWG (mm) SCREW N.m. (Ib.in.)
T = g T477000 RIL1, S/L2, TIL3, 2/0 - 300 x 2P (70 - 150 x 2P) M12 35 (310)
— ~ m Ly ey 0| e T568000 | R1/L11, S1/L21, T1/L31 | 2/0 - 300 x 2P (70 - 150 x 2P) M12 35 (310)
< 7Y £ = 2 ':r' 2 © 605000 UV, W, 2/0 - 300 x 2P (70 - 150 x 2P M12 35 (310
= © —E «©| = =| <& T720000 uv,w 0-300x 2P (70- 150 x 2P) (310)
™ h ~N@ | o o gE
7 < ; o, o = 8 N g g ) 3/0 - 400 x 2P (95 - 205 x 2P) M12 35 (310)
@ T} ©ls w ™ R 3
i lice ' 2-4/0x 2P (3-120 x 2P) M12 35 (310)
|3 +3
15 @ 1/0 - 300 (50 - 150) M12 32-40 (283 - 354)
] ~ o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 @_ — DRWN. | J. MATTAS 12-9-19 |[TITLE SIZE A |PAGE 20F3 REV
YAS'(AWA —  [CHKD. |J. PIOTROWSKI _[1-17-20 | GA800 12 PULSE DIMENSION DRAWING [DWG.NO. 0
UNITS MM [IN] [ TECH. |L. UDDIN 1-24-20 FRAME SIZE 11
IPO0 ENCLOSURE
SCALE 1:10 | APRV. [J. CAIRO 2-25-20 DD.GA80.FR11.IP00.12P




I— A B | c | D E F G | H | | | J
Minimum Installation Clearances Panel Cutout
] For External Heatsink Mounting Configuration
(5)-M12 [1/2"
Threaded Hole 486 [19.13]
] ~ = _
: 2 404 [15.91] 2
R 2 2 o
2 v | 3 179 [7.05] ! 225[8.86] -
~ Air
7 7 j
3
CUTIOUT
|
. |
|
N | 5 &
4 o ! N S]
- | ) <
= i ) N
N | o o
30[1.18] 30[1.18] § i E E
|
|
° |
| |
- |
— ! !
| 5
6 E_/ k—J!T?II §
® 0 4
pa -
Air =z~ ~ Air §
| v s 1 ﬁ& g,l; 450 [17.72] S
N~ hat w
= < Al
) @ 510 [20.08]
N
. -
Notes:
Note: Exposed heatsink minimum clearance D = 225 [8.86].
| For alternate mounting configurations, consult manual. Refer to external heatsink instructions document for additional details.
8 @_ —1 DRWN. | J. MATTAS 12-9-19 |TITLE SIZE A |PAGE 30F 3 REV
YAS '(AWA —  [CHKD. |J. PIOTROWSKI _[1-17-20 | GA800 12 PULSE DIMENSION DRAWING [DWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 1-24-20 FRAME SIZE 11
IPO0 ENCLOSURE
SCALE 1:12 | APRV. |J. CAIRO 2-25-20 DD.GA80.FR11.1P00.12P




	Sheets and Views
	DD.GA80.FR11.IP00.12P-PAGE 1
	DD.GA80.FR11.IP00.12P-PAGE 2
	DD.GA80.FR11.IP00.12P-PAGE 3


